L69-Fine Structure

Friday, March 11, 2016 07:07

* Hydrogen atom
$$M = -\frac{\hbar^2}{2m} \nabla^2 - \frac{e^2}{4\pi\epsilon_0} + \frac{\hbar}{4\pi\epsilon_0} e^2 = 197 \text{ev.nm}$$

 $a = \frac{4\pi\epsilon_0 \hbar^2}{m\epsilon^2} = \frac{\hbar\epsilon_0}{4\pi\epsilon_0} \approx \frac{(\text{quantum})}{(\text{quantum})} \qquad d = \frac{e^2}{4\pi\epsilon_0} \approx \frac{1}{4\pi\epsilon_0} \exp \frac{1}{2} \exp \frac{1}{2}$

Spring 2017 Page 1

$$\begin{aligned} \mathbf{J}_{\mathbf{A}} &= \mathbf{J}_{\mathbf{a}}^{\mathbf{a}} = \mathbf{r} \mathbf{\tilde{L}} \implies \mathbf{I} = \mathbf{\tilde{A}} \mathbf{L} = \mathbf{\tilde{R}}_{\mathbf{r}}^{\mathbf{m}} \mathbf{L} \\ \mathbf{J}_{\mathbf{c}} &= \mathbf{r} \mathbf{\tilde{S}} = g_{\mathbf{c}} \mathbf{\tilde{a}}_{\mathbf{n}} \cdot \mathbf{\tilde{S}} \qquad g_{\mathbf{c}} = \mathbf{A} + \mathbf{\hat{A}} + \dots \approx \mathbf{A}, 002 \\ - \text{Thomas precession: the electron is not in an inertial frame, but is accelerating around the poston. This kinewatic correction is a dictor of $1/2$: $(g_{\mathbf{c}}^{2} + g_{\mathbf{c}}^{-1})$
thus: $\mathbf{N}' = \frac{U_{\mathbf{c}}}{\mathbf{a}r} \left(\frac{g_{\mathbf{2m}}}{\pi \mathbf{1}^{2}} \mathbf{L}\right) \cdot \left(\frac{\Phi}{\mathbf{m}} \cdot \mathbf{\tilde{S}}\right) \cdot \frac{1}{2} = \mathbf{g}_{\mathbf{r}}^{\mathbf{c}} \cdot \mathbf{m}_{\mathbf{c}}^{\mathbf{c}} \mathbf{r}^{\mathbf{s}} \cdot \mathbf{\tilde{S}} \cdot \mathbf{L} \\ \langle \mathbf{\bar{T}} \rangle = (\mathbf{L}(\mathbf{L} + \mathbf{b}_{\mathbf{c}})(\mathbf{L} + \mathbf{h}) \mathbf{n}^{3} \mathbf{a}^{3} \mathbf{J}' \qquad (\mathbf{S} \cdot \mathbf{L}) > \mathbf{I} \\ \mathbf{T}^{2} = \mathbf{L}^{2} + \mathbf{L} \mathbf{L} \cdot \mathbf{\tilde{S}} + \mathbf{S}^{2} \quad [\mathbf{L} \cdot \mathbf{\tilde{S}} = \frac{1}{2}(\mathbf{J}^{2} - \mathbf{L}^{2} - \mathbf{S}^{2}) = \frac{\mathbf{k}^{2}}{2}(\mathbf{a}(\mathbf{h}) - \mathbf{I}(\mathbf{h})) \cdot \mathbf{s}(\mathbf{s}\mathbf{h})) \\ \mathbf{E}_{\mathbf{S}}' = \mathbf{E}_{\mathbf{r}}' + \mathbf{E}_{\mathbf{s}}' = -\frac{(\mathbf{E} \cdot \mathbf{a})^{2}}{2mc^{2}} \left(3 - \frac{4n}{8+\sqrt{2}}\right) \\ * \text{ we need states with "good" } \mathbf{L}, \mathbf{S}, \mathbf{J} \text{ quantum numbass!} \\ \mathbf{Review} \quad \mathbf{Griffilhs} \quad \mathbf{4}, \mathbf{4}, \mathbf{3} \mathbf{I}' \\ \text{ in a given orbital "nA" is is, \mathbf{a}s, \mathbf{a}p, \mathbf{3}s, \mathbf{3}p, \mathbf{4}s, \mathbf{3}d, \dots \\ \text{ there are } (g_{\mathbf{a}} = \mathbf{0} + \mathbf{1}) \cdot (g_{\mathbf{s}} = \mathbf{0}) \text{ states} \\ \frac{\mathbf{S} = V_{\mathbf{a}}'}{1 + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{\mathbf{a} + \frac{1}{2}}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{\mathbf{a} + \frac{1}{2}}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{\mathbf{a} + \frac{1}{2}}}{\frac{\mathbf{a} + \frac{1}{2}}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{\mathbf{a} + \frac{1}{2}}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}}{\frac{\mathbf{a} + \frac{1}{2}}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a} + \frac{1}{2}} \frac{\mathbf{a}$$$

Griffiths problem 4.51 Clebson-Gordon coefficients:
$$|j=l\pm \frac{1}{2},m_{j}\rangle = \sqrt{\frac{1\pm m_{j}+l/2}{2l+1}} |l,m_{e}=m_{j}-\frac{1}{2}|s=\frac{1}{2},m_{s}=\frac{l}{2}\rangle \pm \sqrt{\frac{1\mp m_{j}+l/2}{2l+1}} |l,m_{e}=\frac{l}{2},m_{s}=\frac{l}{2}\rangle$$